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ESSENTIAL VOCABULARY - 2 
 
1. The woman who is ---- on the final episode of 

the famous soap-opera used to be a famous 
actress herself. 

 
A) resisting 
B) commenting 
C) realizing 
D) contributing 
E) searching 

 
 
 

2. Because there is always the risk of infection, 
a hospital must always be kept under 
hygienic ----.  

 
A) conditions 
B) treatments 
C) replacements 
D) conclusions 
E) weapons 

 
 
 

3. You never have to worry about Tom’s quality 
of work because he is ----. 

 
A) obsessive 
B) unlikely 
C) dependable 
D) unreliable 
E) extravagant 

 
 
 

4. According to this map, one of the most ---- 
populated regions in Europe is Sweden, 
considering its low population. 

 
A) heavily 
B) vaguely 
C) skilfully 
D) sparsely 
E) densely 

 
 
 

5. A good many people rushed to the disaster 
area to help ---- the sufferings of the victims. 

 
A) disturb 
B) hinder 
C) frustrate 
D) abstain 
E) relieve 

 
 
 

6. After three days of intensive negotiations, 
they managed to reach some sort of ----. 
 
A) reversal 
B) compromise  
C) disturbance 
D) opposition   
E) significance 

 
 
 
 
 
 
 

7. Because it was a children’s magazine, the 
editor’s job was to make sure that none of the 
stories had any ---- material.  

 
A) offensive 
B) dependable 
C) tasteful 
D) ignorant 
E) compulsory 

 
 
 

8. Brian gave his son the money ----, fearing that 
he might use it to buy more drugs. 

 
A) exceptionally 
B) modestly 
C) unwillingly 
D) generously 
E) convincingly 

 
 
 

9. An intelligent person usually ---- various 
interests and hobbies and has good verbal 
skills. 

 
A) concludes 
B) rehearses 
C) influences 
D) possesses 
E) belongs 

 
 
 

10. Recent studies show that women with higher 
levels of iron are more fertile than women 
who lack this necessary ----. 
 
A) illusion 
B) denial 
C) reason 
D) conflict 
E) nutrient 
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11. After a couple of days, the mushrooms that I 
had bought were ----, so I threw them away. 

 
A) inedible 
B) infertile 
C) innocent 
D) indifferent 
E) irresponsible 

 
 
 

12. We only need to borrow your car ----, since 
ours will be back from the garage in two 
days. 

 
A) roughly 
B) lastingly 
C) eternally 
D) distantly 
E) temporarily 

 
 
 

13. Being a shepherd isn’t easy because there 
are lots of dangers that you have to ---- your 
sheep from. 

 
A) disable 
B) protect 
C) defend 
D) collide 
E) disclose 

 
 
 
14. The tiger is a unique animal which plays an 

important ---- in the health and diversity of an 
ecosystem. 
 
A) faith 
B) rate 
C) role 
D) grief 
E) pace 

 
 
 

15. Susan is an ---- hand-washer; she would 
wash her hands six or seven times a day and 
she never touched doorknobs with her bare 
hands. 

 
A) available 
B) unlikely 
C) autonomous  
D) obsessive 
E) appropriate  

 
 
 

16. Next time, make sure you work on your 
reports as ---- as necessary, as your last two 
ones were not very good. 

 
A) diligently 
B) tactlessly 
C) reluctantly 
D) coincidentally 
E) restlessly 

 
 

17. Please do not ---- much money when you go 
out on your shopping trip, will you? 

 
A) affect 
B) waste 
C) realize 
D) depend 
E) emphasize 

 
 
 
 

18. If Eastern Siberia were to declare its ----, it 
would be the seventh largest country in the 
world. 
 
A) application 
B) involvement 
C) arrangement  
D) independence 
E) disappointment 
 
 
 

19. Many of us sit in front of a computer all day 
and then at night we sit in front of a 
television, but such an inactive lifestyle can 
be very ---- for our health.  

 
A) boring 
B) energetic 
C) dangerous 
D) effortless 
E) exciting 
 
 

20. Although his rival was only a student, Brian 
played ---- and so won the game quickly. 

 
A) reliably 
B) distantly 
C) modestly 
D) unsatisfactorily 
E) mercilessly 
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21. When the Nazis came to power in Germany, 
many students had to ---- the universities, 
where they mainly studied mathematics and 
philosophy.  
 
A) cut down on 
B) settle down 
C) drop out of 
D) put up with 
E) watch out for 

 
 
 
22. My father bought a new pair of glasses, but 

he still couldn’t ---- the numbers on the fronts 
and backs of buses. 
 
A) see off 
B) make out 
C) came along 
D) bring about 
E) crop up 
 
 
 

23. Most of the houses in this neighbourhood 
have been ---- recently, which is why we are 
so scared of being burgled. 
 
A) broken into 
B) left out 
C) woken up 
D) brought about 
E) put forward 

 
 
 
24. Having its root in 1200 B.C, the Indian 

mythology ---- from rest of the world on 
account of its vastness and subtlety. 
 
A) takes up 
B) pays off 
C) makes out 
D) stands out 
E) leaves for 
 
 
 

25. The reason Sally couldn’t ---- her art 
homework to the teacher was that she had 
accidentally spilled paint all over it. 
  
A) break up 
B) put away 
C) speak out 
D) take down 
E) handed in 

 
 

26. Night had already fallen by the time we got to 
the camp site, but fortunately we could ---- 
the tent quite easily as the wind didn't blow. 
 
A) put up 
B) refer to 
C) make up 
D) see off 
E) cope with 

 
 
 
 

27. Even though the literacy rates in India may be 
low, the total number of graduates and 
postgraduates is very high, ---- a highly 
qualified human resource. 

 
A) putting out 
B) resulting in 
C) breaking off 
D) taking away 
E) dealing with 
 
 

28. Although a soccer ball can be ---- in many 
different ways, there is one design so 
universal that it has become iconic.  
 
A) kicked off 
B) brought on 
C) given away 
D) put together 
E) come across 
 
 
 

29. Carotenoid, which gives tomatoes their rich 
red colour, has been shown to ---- a man's 
risk of developing prostate cancer. 
 
A) break out 
B) take on 
C) bring down 
D) run out 
E) belong to 

 
 
 
30. It is often hard to meet someone new, and 

even more difficult to know whether the 
person you get ---- is the right one.  
 
A) broken into 
B) left out 
C) taken up 
D) put up 
E) involved with 
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31. Chemistry lies at the heart of efforts to design 
products that are compatible ---- human 
health and renewing the raw materials 
essential ---- chemical processes. 

 
A) by / to 
B) on / at 
C) with / for 
D) from / off 
E) in / about 

 
 
 

32. Climate change may increase the amount of 
arable land ---- high-latitude regions ---- 
reducing the amount of frozen lands.  

 
A) for / to 
B) in / by 
C) by / at 
D) on / over 
E) from / in 
 
 
 

33. Scientists have long been attempting to 
understand why rainwater is acidic, even ---- 
the absence of such polluting gases ---- 
methane. 

 
A) on / by 
B) in / as 
C) by / for 
D) to / at 
E) over / to 

 
 
 

34. Blood cells, which can only be seen ---- a 
microscope, make ---- about 40 percent of the 
blood's volume. 
 
A) under / up 
B) with / away 
C) over / off 
D) without / out 
E) along / for 
 
 

35. Large explosions are characteristic ---- coal 
mines, but more miners suffer accidents on 
account ---- the use of explosives in metal 
mines. 
 
A) with / on 
B) by / at 
C) over / into 
D) in / of 
E) without / by 

36. Organic and conventional foods are 
susceptible ---- contamination by pathogenic 
microorganisms ---- every point in the food 
chain. 

 
A) for / on 
B) by / in 
C) to / at 
D) without / by 
E) from / at 
 

37. A recent study shows that people ---- asthma 
should be encouraged to exercise ---- 
worrying that their symptoms will get worse. 

 
A) over / about 
B) under / by 
C) through / for 
D) along / into 
E) with / without 
 

38. When attending a wedding ceremony, it is 
important ---- choose the right wedding gift    
---- the couples. 

 
A) by / in 
B) at / off 
C) to / for 
D) over / by 
E) into / along 
 

39. It is safe to assume the advent of Aryans ---- 
Indian soil ---- the date of the ancient period 
in India. 

 
A) in / like  
B) over / to 
C) into / about 
D) on / as 
E) next to / with 

 
40. Most people associate heart attack symptoms 

---- chest pain, pain ---- the shoulder, or other 
well-known signs. 
 
A) with / in 
B) by / for 
C) on / at 
D) to / on 
E) over / by 

 

ANSWER KEY 
1 B 9 D 17 B 25 E 33 B 
2 A 10 E 18 D 26 A 34 A 
3 C 11 A 19 C 27 B 35 D 
4 D 12 E 20 E 28 D 36 C 
5 E 13 B 21 C 29 C 37 E 
6 B 14 C 22 B 30 E 38 C 
7 A 15 D 23 A 31 C 39 D 
8 C 16 A 24 D 32 B 40 A 
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